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EHEERMA SRS
u RT/J\ BEMS
bR oA B 4%
5E: 0.1% F.S.(23£5C) @)
TR 2.5VDC(<25mA) (Current) R TP
SBINEEE: 1000hm~100Kohm Potentiomter
s R EIFRE: <250ms(0~90%) input +
Ulam=FE1=1ZWAR <10mA for voltage mode H
<10V for current mode
SIS NER: <0.1% F.S. 6 5 4 3
oFTHEEE:  0~+165% F.S. (DIP-switches)
0~*t5% F.S. (VR-adjustable) - ©_©
o A(EIEEEE: 0~ 165% F.S. (DIP-switches) 0 @ @
0~+10% F.S. (VR-adjustable) ° 37
»REREL 100ppm/°C (0~50°C)
SIREEIFIE: Input / Output/ Power / Case 7 8 1 2
siEfEIET: >100M ohm with 500V DC
HBIZMERRED: 2K Vac/ 1min.(input/output/power) u
1600Vdc(input/output)
oFARIBIBIEMH:  0~607C; 20~90% RH (non-condensed) POWER + -
TEHUBISIEM:  0~70°C; 20~90% RH (non-condensed) OUTPUT
oZHRF: Socket/plugin type with barrier
terminals
=R B RER

XTP-P-[ k&1 | -[ Ri&2 ] - | Ri&g3]

%1 |mA 2 @ 53| TIFER

10 | 0~10% 16 | 0~50% 22 | 5-95% A |0~05V G | 0-8v M | 1~6mA A |AC/DC 18-60V

11 | 0~15% 17 | 0~65% 23 | 10~90% B |0~1V H | 0~10V N | 0~10mA B | AC/DC 90-260V

12 | 0~20% 18 | 0~70% 24 | 10~100% C | 0~2V | 2~10V O |0~16mA | |Less 3VA for AC/IDC input
9 AC input frequency

1 3 O"‘25 /0 19 O"85% 29 OPT|ON D O"‘4V J O"‘ 1 mA P O”ZOmA (45"‘65HZ)

14 | 0~30% 20 | 0-90%  [*ExcitingVoltage E | 0BV K | 0~2mA Q |4~20mA

15| 0-40% | 21 [o-100% | Z*YPU™) | [Tr Tiey [ L [0BmA | R | 0PN
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@ 52 Input range offsef(ZERO) selection
Offset setting%-S2

N1 2 4 810 20 40 80 onq)

"[11213]4[5]6]7]8]
OFF(0)
Status off=enable
Allpoles off N=165%

Allpoleson N=-0%

S2(INPUT)

S3(NPUT)]  SPAN
®

SA(NPUT) ZE§°

@ S3- Inputrange span(GAIN) selection
Span setting%-S3

N%1 2 4 8 10 20 408OON(’I)

"[1]2][3]4][5]6]7]8]
OFF(0)
Status off=enable
All poles off N=165%

Allpoleson N=0%

@ S3-P1-P2-P3-P4-P5-P6 :input range selection
P7-P8: output mode of voltage or current selection
(Refer, output switching table)

EFa

RH: percent input High range
RL: percentinput Low range

@ Span—>X=[10/(RH-RL)|%

@ Offset—Y=(100xGxRL)
(unit=%)

FE A

Example: XTP-P-21Q2
Input range—~RH=100%, RL=0%
Output range—~DC4~20mA
@ Span—X=[10/(100%-0%)]%=10%
® ZERO-Y=(100x0%)%=0%

ON(1)

*52[1]2[314/5]6]7]8]

(P5-off & the rest on-EN=10%)

OFF(0)

ON(1)

*53[112]3[4[516(7[8]

(All poles on-EN=10%)

OFF(0)

ON(1)

*54[112314]5]6]7]8]

(P5-P7-P8-off & the rest on)

OFF(0)

A RRBR
switching status 1=on; 0= off
Input range S3(ZERO) S2(SPAN)

1/2|3|4|5|6|7|8]1|2|3|4|[5]|6|7|8
0~10% WAty 1)1,1/0{1|0
0~15% 1111 1|1f1{1y0o{ojoj1|1j0f{0f1
0~20% Ay af1)111001{0f1
0~25% T g1 114101
0~30% T 11111y ojoj1110(0f1{1
0~40% T 11111y of1jop1|1j0of1{1
0~50% A ap1 11 1iof1f1
0~60% 1111111y ojojoj1|o0f1{1{1
0~70% 111y 1{op10)1f1)1
0~80% T 1111y ojoj1p11o0p1{141
0~90% Ty op1 11 140f141
0~100% (1| 1|11 111 1p1{1|11101{1{1
5~05% o101 1f 11 1yop1) 11401141
10-90% | 1)1| 11101 1|1]0{0|1| 1|0 1|{1|1
10~100% 1) 1|11 01| 1|1]0O{1|1| 1|0 1|{1]1
Recalibrating to obtain linear output
il
switching status 1=on; 0=off

0P Range OfF Mode

Qutput range| 1(2|3|4|5(6] 7|8
0~0.5v o111 1{0]1{1
0~-1v 11011 (1{1]011]1
0~2v 111100 1{1]0f1|1
0~4v 11111 (0f{1]0f1]1
0~5v 11011(0{1]011|1
1~5V 111 (of1]111)1
0~6v 111|0(0f(1]011]1
0-8v 1111 (1{0j011]1
0~-10v 111|0(1{0j0f1|1
2-10V 111 (1{0j111)1
O0~1mA o[{1|1|1|1{0]0|0
0~2mA 11011(1{1]0]0|0
0~5mA o[{1|0|1|1{0]0|0
1~5mA 111|0(1{1]1]0|0
0~10mA 11011(0{1]0j0|0
2~-10mA 11111(0{1]1]0|0
0~16mA 111|1(1{0]0j0|0
0~20mA 111|0(1{0]0j0|0
4~20mA 11111 (1{0]1]0|0




